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o Linearized knot diagam
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\@Jl" Solving Sequence

410>57>8—>11—>3—>12—>2—>1—6 — 9 —> C5,C8,C12
C4 ¢r Cio €3 Ci1 C2 C1 Ce Co

A knot diagranﬂ
Ideals for irreducible component#ﬂ)f Xpar

It = (4u'? — 8u' — 26u'® 4+ 41u° + 59u® — 69u” — 42u8 + 9u® — 10u* + 560> + u? + 13b — 5u + 10,
— 4ut? + 8uM 4 2600 — 41u° — 5968 + 69u” + 4208 — 9u® + 10u* — 69u® — u? + 13a + 31u — 10,
u® 4+ u? — 6utt — 60’0 4 13u” + 14u® — Tu” — 13u® — 120° + 130> + 6u® + 2u + 1)
I¥ = (—5.18174 x 10*u*7 — 1.01683 x 10*7u*0 + ... 4 3.77343 x 10*"b — 4.53377 x 10*7,
2.81502 x 10*7u?" 4+ 3.21473 x 10*7u% + .- +1.25781 x 10*7a + 4.62967 x 10*8, u*® 44" + ... +20u + 1
= (—u?+b+1, —u*+u*+a+2u—1, v’ —3ud+2u+1)
IV = (—u?+b+1, —2u" —ub + 110’ + 3u* — 18u® + 3u® + a 4 Su — 9,
u® — 5ub +ud + Tut — 4ud — 20 + du — 1)
I'=0b+1, a, u—1)

* 5 irreducible components of dime = 0, with total 75 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I} =
(4u'?2—8u't+4-...4+13b+10, —4u'?+8u'l+...+13a—10, u'3+ul2+-..+2u+1)

(i) Arc colorings

= 0

o= ()
oo ()
0.307692u'2 — 0.615385u!! + - - - — 2.38462u + 0.769231
a7 = \ —0.307692u'2 + 0.615385u'! + - - + 0.384615u — 0.769231
ud — 2u
ag = \ —0.307692u'2 + 0.615385u!! + - - - + 0.384615u — 0.769231
( )
0.538462u'? — 0.0769231u'! + - - - + 3.07692u + 1.84615
—1.07692u'2 + 0.153846u'! + - - - — 2.15385u — 0.692308
u? —1
—0.692308u'2 4 0.384615u! + - - - + 1.61538u — 0.230769
1.46154u'? 4+ 0.0769231u!! + - - - 4 2.92308u + 2.15385
az = \ —1.46154u'2 — 0.0769231u + - - - — 2.92308u — 1.15385
1
a1 = \ —1.46154u'2 — 0.0769231u! + - .- — 2.92308u — 1.15385
—u? 41
ag = \ut — 22

—Uu
ag = (1.38462u12 +0.769231u™ + - - — 0.769231u — 1.46154>

(ii) Obstruction class = —1

(iii) Cusp Shapes _ 42u12 + ?g 11 18U10 1122u9 + 1833U8 + 31039U7 21835 uG
@’Lﬁ _ 300u4 _|_ U + %94u2 4 162 157
13 13 13 13 13




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ ul® — 120! + ... 4+ 352u — 32
€2, €3, C7 ul® = 3utt + 90 +u® — 120" + ub + 16u® —ut — 11w +3u? +4u—1
C11
C4,C5,C8 w2 o2u—1
C9, C10, C12
C6 u'® + 11u'? + - — 208u — 56




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 Y3+ 8yl + ... 4 42496y — 1024
C2,C3,C7 yP -6yt 422y —1
C11
C4,Cs, C8 y13—13y12+-"—8y—1
€9, C10, C12
C6 y? +y'? 4+ - + 5408y — 3136




(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape
u = —0.171620 4 0.8596811
a = —0.34697 — 1.560701 —2.17962 — 5.845111 7.45794 + 6.042901

b= 1.065670 — 0.7180491

u = —0.171620 — 0.8596811
a = —0.34697 + 1.560701
b= 1.065670 + 0.7180491

—2.17962 4 5.845111

7.45794 — 6.042901

u = —1.309140 4 0.0645341
a = —0.581299 — 0.6741911
b= 10.972284 + 0.8766541

8.82263 4 2.582291

16.9820 — 3.00151

u = —1.309140 — 0.0645341
a = —0.581299 + 0.6741911
b= 10.972284 — 0.8766541

8.82263 — 2.582291

16.9820 + 3.00151

u = 1.356440 4 0.2755171
a= 0.256447 4 0.1564881
b= —0.782477 + 0.7923581

5.13873 + 2.173851

13.57691 — 0.521061

u= 1356440 — 0.2755171
a= 0.256447 — 0.1564881
b= —0.782477 — 0.7923581

5.13873 — 2.173851

13.57691 4+ 0.521061

u= 1356860+ 0.3951511
a = —1.72651 + 1.213741
b= 0.875267 + 0.1167551

9.39305 + 5.419111

19.2364 — 4.11291

u= 1356860 — 0.3951511
a = —1.72651 — 1.213741
b= 0.875267 — 0.1167551

9.39305 — 5.4191171

19.2364 + 4.11291

u = —0.537178
a= 116207
b= —0.242725

0.805138

11.7720

u = —1.48836 + 0.392641
a= 1.67676+ 0.982791
b= —1.30871 + 0.780701

8.6054 — 15.18651

15.2811 + 7.96891




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u = —1.48836 — 0.392641
a= 1.67676 —0.982791
b= —1.30871 — 0.780701

8.6054 4 15.18651

15.2811 — 7.96891

a

0.024401 + 0.3936101
0.640545 — 1.2442201

b= —0.700673 4 0.3967221

1.07099 — 1.388371

7.07977 + 4.856511

b:

0.024401 — 0.3936107
0.640545 + 1.2442201
—0.700673 — 0.3967221

1.07099 + 1.388371

7.07977 — 4.856511




IL.
I¥ = (—5.18 X 10%6u*" —1.02 X 10*7u*6 +. .. 4-3.77 X 10*"b—4.53 X 10*7, 2.82 X
1047u4"4+3.21 x 1047446 +. . . +1.26 X 10*7a+4.63 x 1048, v+ u27 ... 4+20u+1)

(i) Arc colorings

=0

aio = ( )
o= ()
—2.23803u*" — 2.55582u%6 + ... — 95.9559u — 36.8074
a7 = \0.137322u*7 4 0.269470u*6 + - - - 4+ 10.2860u + 1.20150
—2.10071u*" — 2.28635u%6 + - . . — 85.6699u — 35.6059
ag = \0.137322u*" + 0.269470u*6 + - - - + 10.2860u + 1.20150
( o)
—1.66504u47 — 1.59037u46 + ... — 127.758u — 32.3177
0.0330654u*” + 0.122014u*6 + - .. — 10.8225u + 0.0377011
—2.91125u*7 — 2.61233u*0 + ... — 182.706w — 53.5737
0.168578u*" + 0.0577104u* + - .. — 0.407278u + 0.897363
—1.68717u*" — 1.75245u*6 + ... — 125.467u — 32.2876
az = \0.0461378u%" 4+ 0.188914446 + ... — 11.3519u — 0.0721935
—1.64103u*™ — 1.56354u*6 + - - - — 136.819u — 32.3598
a1 = \0.0461378u*7 4+ 0.188914u*¢ + ... — 11.3519u — 0.0721935
u +1
ag = \ut — 22

2.76666u*" + 2.69855u* + - - - + 205.087u + 52.5080
a9 = \ —0.111644u*" + 0.153944u* + - .. + 8.10592u — 0.451941

(ii) Obstruction class = —1

(iii) Cusp Shapes = —2.00373u*" — 2.03203u*® + - - - — 42.9306u — 8.93702



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u?* + 2u® 4 -+ = 20u — 1)?
€2, 3,01 u®® — w4~ 19Tu + 73
C11
C4,C5,C8 ut® T 20u 41
€9, C10, C12
Co

(u?* —5u® 4 - + 15u — 1)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 (y** + 4y® + - — 522y + 1)?
€2, 3,01 y* —23y*7 + - — 76039y + 5329
C11
C4,C5,C8 y48—43y47+--~—216y+1
€9, C10, C12
C6 (y** —3y* + -+ — 135y + 1)?




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

0.379137 + 0.9764931
—0.471549 4 1.1576401 2.67292 4 10.256901 12.1975 — 7.67881
1.29469 + 0.670051

0.379137 — 0.9764931
—0.471549 — 1.1576401 2.67292 — 10.256901 12.1975 + 7.67881
1.29469 — 0.670051

—0.021423 4 0.9483581
0.401732 + 0.7376651 4.94291 — 0.587201 16.0412 — 0.81681
—0.856499 + 0.1350051

—0.021423 — 0.9483581
0.401732 — 0.7376651 4.94291 4 0.587201 16.0412 + 0.81681
—0.856499 — 0.1350051

—1.023260 + 0.4906461
0.476231 + 0.0278301 0.464120 + 1.0815901 8.00000 — 2.006721
—1.044720 — 0.5848821

—1.023260 — 0.4906461
0.476231 — 0.0278301 0.464120 — 1.0815901 8.00000 + 2.006721
—1.044720 + 0.5848821

—0.379291 4 0.7391731
0.316811 + 0.7482671 | —0.51929 — 4.008621 8.65058 + 5.806851
0.248462 + 1.0646001

—0.379291 — 0.7391731
0.316811 — 0.7482671 | —0.51929 + 4.008621 8.65058 — 5.806851
0.248462 — 1.0646001

1.135680 + 0.3368821
0.864140 — 0.6995271 | —0.51929 + 4.008621 8.00000 — 5.806851
—0.713544 — 0.7300811

1.135680 — 0.3368821
= 0.864140 4 0.6995271 | —0.51929 — 4.008621 8.00000 + 5.806851
= —0.713544 + 0.7300811

> Q@ 2|l @ €| & 8|l @ €| @ €| & €| & &8> & 8| & 8| & &
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Solutions to I3

V=1(vol + v=1CS)

Cusp shape

= —0.750478 + 0.2925771
= 1.176600 + 0.4682221
= —0.319389 + 0.4773181

0.664158

9.39053 + 0.1

= —0.750478 — 0.2925771
= 1.176600 — 0.4682221
—0.319389 — 0.4773181

0.664158

9.39053 + 0.1

1.163220 + 0.3033461
—0.223618 — 0.4674911
= —1.004700 + 0.4710491

4.64466

15.0647 + 0.1

= 1.163220 — 0.3033461
= —0.223618 + 0.4674911
= —1.004700 — 0.4710491

4.64466

15.0647 + 0.1

= 0.141459 + 0.7650361
= 0.561104 — 0.7690521
= 0.623240 — 0.8461471

—3.53422

4.26168 + 0.1

0.141459 — 0.765036.1
= 0.561104 + 0.7690521
0.623240 + 0.8461471

—3.53422

4.26168 + 0.1

0.068175 + 0.7628241
= 0.696604 + 1.0298001
= 0.970507 + 0.6500471

1.27885 + 3.921801

9.29302 — 3.738081

= 0.068175 — 0.7628241
= 0.696604 — 1.0298001
= 0.970507 — 0.6500471

1.27885 — 3.921801

9.29302 + 3.738081

= 1.235930 + 0.1670131

= —0.657445 — 0.4125601 4.65694 + 3.478681 0
= 0.705420 + 0.3917601
= 1.235930 — 0.1670131
= —0.657445 + 0.4125601 4.65694 — 3.478681 0

= 0.705420 — 0.3917601
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Solutions to I¥ V—1(vol + /—1CS) Cusp shape
u=0.916403 + 0.8854931
a= 0.391708 — 0.2486351 4.14619 — 4.107611 0
b= —1.329710 4 0.4608141
u=0.916403 — 0.8854931
a= 0.391708 4 0.2486351 4.14619 + 4.107611 0
b= —1.329710 — 0.4608141
u = —1.265470 4+ 0.1538651
a = —2.80490 — 0.730507 4.94291 — 0.587201 0
b= 0.791562 4 0.3637621
u = —1.265470 — 0.1538651
a = —2.80490 + 0.730507 4.94291 + 0.587201 0
b= 0.791562 — 0.3637621
u = —1.263720 + 0.2316171
a= 248042 + 2.195721 4.14619 — 4.107611 0
b= —0.811085 + 0.5356871
u = —1.263720 — 0.2316171
a= 248042 — 2.195721 4.14619 + 4.107611 0
b= —0.811085 — 0.5356871
u = —1.28856
a = —0.869778 14.0810 25.5770
b= —0.755603
U 1.32785
a= 4.15788 14.6478 0
b= —0.885530
u = 1.330000 + 0.0486491
a = —2.39749 + 0.123097 9.08685 + 4.245721 0
b= 1.065850 4 0.8414257
u = 1.330000 — 0.0486491
a = —2.39749 — 0.123091 9.08685 — 4.245721 0

b= 1.065850 — 0.841425]
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —1.309300 + 0.3180071
0.889440 + 0.8219351
—0.928244 - 0.7116531

5.58448 — 7.815891

—1.309300 — 0.3180071
0.889440 — 0.8219351
—0.928244 — 0.7116531

5.58448 + 7.815891

—1.316980 + 0.4058261
= —0.548637 + 0.0812791
0.803853 + 0.1480067

9.08685 — 4.245721

—1.316980 — 0.4058261
—0.548637 — 0.0812791
0.803853 — 0.148006.1

9.08685 + 4.245721

—0.087131 4 0.6113471
0.35264 + 2.458931
0.721176 + 0.6116391

0.464120 + 1.0815901

8.16075 — 2.006721

—0.087131 — 0.6113471
0.35264 — 2.458931
0.721176 — 0.6116391

0.464120 — 1.0815907

8.16075 4 2.006721

—1.373810 + 0.3218571
—0.344264 + 0.5280751
—0.621802 — 0.9932321

1.27885 — 3.921801

—1.373810 — 0.3218571
—0.344264 — 0.5280751
—0.621802 +- 0.9932321

1.27885 + 3.921801

1.36990 + 0.368821
1.75795 — 1.377251
—1.073560 — 0.7634481

2.67292 4 10.256901

1.36990 — 0.368821
= 1.75795 4 1.377251
= —1.073560 + 0.7634481

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
|

2.67292 — 10.256907
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

u= 149633 + 0.292661
a = —0.376487 — 0.5618651 5.58448 + 7.815891 0
b= —0.34302 + 1.385021
uw= 149633 — 0.29266]
a = —0.376487 + 0.5618651 5.58448 — 7.815891 0
b= —0.34302 — 1.385021
u = 1.65947
a = —1.72670 10.1445 0
b= 1.72233
u = —1.66105
a = —1.80640 14.0810 0
b= 2.14588
u = —1.81988
a = —1.44716 14.6478 0
b= 1.67660
= —0.024167 + 0.1775541
—0.54655 + 4.548251 4.65694 — 3.478681 16.3031 + 8.48381
b= —1.041510 + 0.8539511
= —0.024167 — 0.1775541
= —0.54655 — 4.548251 4.65694 + 3.478681 16.3031 — 8.48381
b= —1.041510 — 0.8539511
= —0.0602179
—35.2967 10.1445 —9.41450
b= 10.822371
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IL I = (—u? +b+1, —u*+ v’ +a+2u—1, u® —3u®>+2u+1)

(i) Arc colorings

u? —1
—ud —u? 4+ 2u+1
—ut— w2l +u—1
ut +ud — 22 —u

ag =
—U
ag = \y*+ud—u2—u—1

(ii) Obstruction class =1

(iii) Cusp Shapes = —2u* — 3u? + 3u? + 2u + 17

15



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! u® — 2u* + 5u® — 4u® — 1

Ca, C7 wHut—ud—u? 41

C3,C11 b —ut =P e -1

€4, €5, C8 u® — 3u® 4+ 2u + 1

C9

C6 u’ 4+ 2ut 4+ 3ud + 3u® + 3u+1

C10, C12 u® — 3u? +2u—1

16



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
gl y® + 6y + 9y° — 20y% — 8y — 1
C2,C3,C7

y5—3y4+3y3—3y2+2y—1
C11

C4,C5,C8 y5—6y4+13y3—12y2+4y—1
€9, C10, C12

Co yo+2y" + 3y + 557 + 3y — 1

17



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

1.297630 + 0.2724891
= —1.308900 + 0.1040911
0.609585 + 0.7071771

7.56155 + 5.694451

14.5549 — 5.95531

1.297630 — 0.2724891
—1.308900 — 0.1040911
0.609585 — 0.7071771

7.56155 — 5.694451

14.5549 + 5.95531

—0.516079 + 0.3123401
1.87697 — 0.083201
—0.831219 — 0.3223841

2.00050 + 0.857281

16.5843 — 0.78211

—0.516079 — 0.3123401
1.87697 + 0.083201
—0.831219 + 0.3223841

U
a
b
U
a
b
U
a
b
]
a
b

2.00050 — 0.857281

16.5843 + 0.78211

u = —1.56310
a=—2.13614
b= 144327

17.0644

20.7220
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IV.
I = (—u?+b+1, —2u"—u®+-.-+a—9, ud—5ub+u’+7u—4u®—2u?+4u—1)

(i) Arc colorings

= )

o= (1)
o= (o)
2u” +ub — 11u° —3u4+18u —3u?—8u+9
ar = w?—1
2u” +ub — 110 —3u4+18u —2u? —8u+8
as = w?—1
(u )
—3u” — ub + 14u° —|—u —18ud +6u+6u—7
ut —2u?+1
4u” + 2u8 — 19u® — 5ut + 26u® — 5u2 — 11u + 12
wd — 4w +u?+3u—2
—3u" + 14u® — 2u* —17u + T+ Au—7
az = —uS + 4u* — u? — 3u? + 2u
—3u" —ub —|—14u + 2ut —18u +4ud +6u—7
ap = —ub +4ut —ud —3u? +2u
—u?+1
as = \y? — 242
—3u" 4 15u® — 2u* — 21u3 + 9u2 + Tu — 11
ag = w S — 4 —3ut+ A+ u—u+1

(ii) Obstruction class =1

(iii) Cusp Shapes = 10u” + 5u® — 45u5 — 10u* + 60u3 — 15u? — 25u + 42

19



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u* + 3u® + 4u® + 4u + 1)?
Co,C7 u® 4+ 2u” — 3u® — 5u® + 5ut +6u® —u? —3u—1
c3,C11 W= 20" =3l +5ud +5ut —6ud — P+ 3u—1
€4,C5,C8 u® =5l + S + Tt — 4w — 20+ du—1
C9
6 (u* —u® +u? +u—1)2
€10, C12 ud — 5wl —w® + Tt + 4w — 20 —du—1

20



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1 (y* —y° —6y* — 8y + 1)?
€2, C3, C7 y® — 10y" + 39y° — 81y° + 101y* — 70y> + 279y% — Ty + 1
C11
€4, 5, C8 y® — 10y +39y° — 75y° + Thyt — 42y° + 2297 — 12y + 1
€9, C10, C12
“ W' +y>+y* =3y +1)°

21



(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV —1(vol + /—1CS) Cusp shape
u = —1.220530 + 0.1439291
a = —0.57045 + 1.415331 4.50609 — 2.527421 14.9376 4 0.39381

b= 0.468985 — 0.3513391

uw = —1.220530 — 0.1439291
a = —0.57045 — 1.415331
b= 0.468985 + 0.3513391

4.50609 + 2.527421

14.9376 — 0.39381

u= 0.475131 4 0.6056001
a= 0.0796516 + 0.08372401
b= —1.141000 + 0.5754781

4.50609 — 2.527421

14.9376 + 0.39381

uw= 0475131 — 0.6056001
a= 0.0796516 — 0.08372401
b= —1.141000 — 0.5754781

4.50609 + 2.527421

14.9376 — 0.39381

u= 1.26429

a= 1.67924 13.5577 8.81150
b= 0.598434

u= 1.63636

a = —1.79185 10.3288 34.3130
b= 1.67768
u=0.313425
a= 6.69143 10.3288 34.3130
b= —-0.901765

u = —1.72328

a = —1.59721 13.5577 8.81150
b= 1.96968

22



V. I =({b+1, a, u—1
5

(i) Arc colorings

ag =
-1
ag = 0
(ii) Obstruction class = —1

(iii) Cusp Shapes = 18

23



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3 u—1
C7,C11
C4,C5,Cg u—+1
€9, C10, C12
Cg U

24



(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,C3
C4,C5,C7
€8, C9, C10

C11,C12

C6

25



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/—=1CS) Cusp shape
u = 1.00000
a= 0 4.93480 18.0000
b = —1.00000
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VI. u-Polynomials

Crossings u-Polynomials at each crossing
c (u — 1) (u* + 3u® + 4u® + 4u + 1)*(u® — 2u* + 5u® — 4u® — 1)
(' =120t 4 - 4 352u — 32) (uPt + 2u - — 20u — 1)2
(u—1)(u® +u* —u® —u? +1)
€2, €7 (u® 4 20" — 3ub — 50’ + 5ut + 6u® — u? — 3u—1)
c(u® = 3ut + 9u® +u® — 1207 + 0 4+ 16u° — ut — 110® 4 3u? 4 du — 1)
C(u®® =t 4 = 19Tu + 73)
(u—1)(u® —u* —u® +u? 1)
€3, €11 (u® —2u” — 3u® + 5u® + 5ut — 6u® —u® + 3u — 1)
(= 3utt 490 +u® — 1207 4+ 1 + 16u° — ut — 1103 + 3u® + 4u — 1)
C(u?® =t 4 = 19Tu + T3)
¢4, C5, C8 (u+1)(u® — 3u® 4+ 2u + 1) (u® — 5ub + -+ 4u — 1)
Co WP - 2u— 1) = =200+ 1)
6 u(ut —u® +u? +u—1)2(u’® 4 2u* + 3u® + 3u® + 3u + 1)
(w4 110t 4 = 208u — 56) (ut — 5u + -+ 15u — 1)2
C10.C1o (u+ 1) (u® — 3u® +2u — 1) (u® — 5u® + -+ —4u — 1)

P — w4 20— 1) (W — T — 200+ 1)
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VII. Riley Polynomials

Crossings Riley Polynomials at each crossing
e (y — D(y* —y® — 6y® — 8y + 1)*(y° + 6y* + 9y* — 20y° — 8y — 1)
(" 8yt - 442496y — 1024) (v + 4y - =522y +1)2
¢a,C3, Cr (y— 1" =3y +3y° —3y° + 2y — 1)
11 (y® —10y7 4+ 395 — 81y° + 101y* — 70y° + 27y% — Ty + 1)
Syt =6yt 22y — 1) (8 — 239" + - — 76039y + 5329)
coes,cs | W=D =6yt +13y° — 1297 +4y — 1)
Co, €10, C19 (y® — 10y" + 39y — T5y° + 5yt — 42y° + 227 — 12y + 1)
Sy =13y 4 =8y — 1) (y*® — 43y - — 216y + 1)
ce yyt + P+t =3y )20+ 2yt + 3P 52 + 3y — 1)

Sy oyt 4 4 5408y — 3136) (2 — 3y* 4 - — 135y + 1)
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